PROFESSIONAL EXAMINATION BOARD

Combined Group-4 Recruitment Test : 2016

19th December 2016, 03:00 PM
Topic:- General Knowledge

1)

Question ID :- (Question ID = 51667 )

Question Description :- HP12 GENERAL KNOWLEDGE SET3Q8
Question Stimulus :-

Who among the following became the first Chief Minister of Madhya Pradesh on 1st

%mben 19567 / 1 AG%ER 1956 B 9 A A fru Uea USSR & UYW YRIHAT BT U TgUI
?

e (Option ID =146530)
Bhagwantrao Mandloi / HITddRTd HEAIS
e (Option ID =146531)
Ravishankar Shukla / Ifa=i®v Y@
e (Option ID =146532)
Kailash Nath Katju / SeT=T 1Y TS|
e (Option ID =146533)
Dwarka Prasad Mishra / gR®T U-1G Ay
Option ID :-0Correct Answer :-(Option ID = 146531 ) Ravishankar Shukla | IfA—iHR PIC]
2)
Question ID :- (Question ID = 51669 )
Question Description :- HP12 GENERAL KNOWLEDGE _SET3Q10

Question Stimulus :-

Which of the following districts does the Gird region of MP include? / fRaferfaa # & wi9an
forem weg wewr & RS & A srar 82

e (Option ID =146538)
Bhind / fiig

e (Option ID =146539)
Gwalior / TR

e (Option ID =146540)

Shivpuri / Ragd



e (Option ID = 146541)
All of these / 3udad Tt
Option ID :-0Correct Answer :-(Option ID = 146541 ) All of these / B'Q'gﬁ it
3)
Question ID :- (Question ID = 51664 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SET3Q5
Question Stimulus :-

Tawa, Denwa, Shakkar are the tributaries of which of the following river?/ddI, a_-lﬂT, YFh

fra & & forw 71t 91 weTaw AT 87
e (Option ID = 146518)
Narmada / FHgT
e (Option ID = 146519 )
Chambal / 9
e (Option ID = 146520 )
Shipra/ ferum
e (Option ID = 146521)
Tapti / Tt
Option ID :-0Correct Answer :-(Option ID = 146518 ) Narmada / :l'l:faT
4)
Question ID :- (Question ID = 51666 )
Question Description :- HP12_GENERAL KNOWLEDGE_SET3Q7
Question Stimulus :-

In which city of Madhya Pradesh is the Government Opium and Alkaloid Factory located? /
A UG & e e H WBRT B 3R IUSR FREHT (RUA 572

« (Option ID = 146526 )
Mandsaur / Hg3R

e (Option ID = 146527)
Neemuch / 1o

« (Option ID = 146528 )

Dhar / YR



e (Option ID = 146529)
Orchha / 3RBT
Option ID :-0Correct Answer :-(Option ID = 146527 ) Neemuch / i
S)
Question ID :- (Question ID = 51668 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SET3Q9
Question Stimulus :-

Which of the following forest is Rudyard Kipling’s famous book ‘Jungle Book’ based on? /

Feurs ferufei &t faema [ae <va g9 H9 A I {59 sira w smenfya 32
e (Option ID = 146534 )
Bandhavgarh / Si4dTg
e (Option ID = 146535)
Pench / 49
e (Option ID = 146536 )
Kanha / &TgT
e (Option ID = 146537 )
Panna / 99l
Option ID :-0Correct Answer :-(Option ID = 146535 ) Pench / uq
6)
Question ID :- (Question ID = 51671 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SET3Q12

Question Stimulus :-

Where was the 13th EU-India Summit 2016 held? / 13- 's‘.g.-tma RrRer T 2016 F1
STV gl ux foar mar?

e (Option ID =146546)
Belgium / sfesrad

e (Option ID =146547)
Germany / STHAT

e (Option ID = 146548 )

France /| Wil



« (Option ID = 146549 )
Netherlands / Aeeagd

Option ID :-0Correct Answer :-(Option ID = 146546 ) Belgium / CIGSEL
7

Question ID :- (Question ID = 51675)

Question Description :- HP12_ GENERAL KNOWLEDGE_SET3Q16
Question Stimulus :-

Which of the following is the first district to pay cashless transaction of wages in India? /

o ¥ 9 v fRrem uRa ¥ aduyy qeigdl ST YT Te-Ied e §RT S arar forar 82
« (Option ID = 146562 )

Hailakandi / STSATPIa

« (Option ID = 146563 )
Dhubri / &<t

« (Option ID = 146564 )
Dhemaji / SFHTSIt

« (Option ID = 146565 )

Lakhimpur / E@TI'ER
Option ID :-0Correct Answer :-(Option ID = 146562 ) Hailakandi / E'Ig?l'ﬁﬂ_cﬁ
8)
Question ID :- (Question ID = 51665 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SET3Q6
Question Stimulus :-

What is the present prize money given in Vikram Awards by the Madhya Pradesh
government? | 9 USRI WRPR gRI feT 9M arel fashd [RopR ot gdu™ [RPR A fha
?

« (Option ID = 146522)
*50,000

« (Option ID = 146523 )
75,000

« (Option ID = 146524 )

*1,00,000



e (Option ID = 146525)
*1,50,000
Option ID :-0Correct Answer :-(Option ID = 146524 ) *1,00,000
9)
Question ID :- (Question ID = 51672 )
Question Description :- HP12. GENERAL KNOWLEDGE_ SET3Q13

Question Stimulus :-

In which state was the evidence of the lost Chandrabhaga river recently discovered? RECE

¥ fra w0 ® faqud g5 IS UNT A1t ST UH10T §Td &1 | @i AT mar?
e (Option ID =146550)
Assam / 3[9H
e (Option ID = 146551 )
Odisha /33T
e (Option ID = 146552 )
Bihar / fagR
e (Option ID =146553)
Karnataka / $1ic®
Option ID :-0Correct Answer :-(Option ID = 146551 ) Odisha /[SSIHT
10)
Question ID :- (Question ID =51674)
Question Description :- HP12_ GENERAL KNOWLEDGE_SET3Q15
Question Stimulus :-
India’s GSAT-18 satellite is a- /| HRd T Si18c-18 SUUE §, Th-
e (Option ID = 146558 )
Military satellite / 90 SUUE
e (Option ID =146559)
Communication satellite / §IR IUAG
e (Option ID = 146560 )
Weather forecast satellite / TRTH Q\H'HTIFI 3Ude

« (Option ID = 146561 )



None of these / 3‘-{3{ I Eﬁi T-I'sﬁ

Option ID :-0Correct Answer :~(Option ID = 146559 ) Communication satellite / IR 39Ug
11)

Question ID :- (Question ID = 51662 )

Question Description :- HP12_GENERAL KNOWLEDGE_SET3Q3

Question Stimulus :-

Which of the following districts of Madhya Pradesh is known as the Centre Point of India? /

fFrafafEd & Q 9w udw & frd o Y HIRA P71 TR uige & ATH § ST SIdr 82
« (Option ID = 146510 )
Gwalior / TaTferIR
« (Option ID = 146511 )
Vidisha / fafezm
« (Option ID = 146512)
Sagar / IR
« (Option ID = 146513 )
Bhopal / vare
Option ID :-0Correct Answer :-(Option ID = 146511 ) Vidisha / ﬁ'ﬁ'ﬂ'ﬂ
12)
Question ID :- (Question ID = 51661 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SET3Q2

Question Stimulus :-

In which place of Madhya Pradesh did Mumtaz Mahal die? / W0 We®I & ford &7 & guars
HEd BT ggid gail?

« (Option ID = 146506 )
Burhanpur / gRX@THYR

« (Option ID = 146507 )
Khandwa / ESdl

e (Option ID = 146508 )
Khargone | WA

« (Option ID = 146509 )



Dhar/ YR
Option ID :-0Correct Answer :-(Option ID = 146506 ) Burhanpur / §X&TYR
13)
Question ID :- (Question ID = 51660 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SET3Q1

Question Stimulus :-

How many National Highways pass through Madhya Pradesh? /ﬁﬂﬁ?‘l‘@'ﬂﬂﬁmﬂfﬂw

T H ToRd 82

(Option ID = 146502 )

17
e (Option ID = 146503 )
18
e (Option ID = 146504 )
19
e (Option ID = 146505 )
20
Option ID :-0Correct Answer :-(Option ID = 146505 ) 20
14)
Question ID :- (Question ID = 51676 )
Question Description :- HP12 GENERAL KNOWLEDGE _SET3Q17
Question Stimulus :-
When is the Indian Navy Day celebrated? / HRA T &g &d A=MT SITdT 872
e (Option ID = 146566 )
December 2 / féwaR 2
e (Option ID = 146567 )
December 3 / fqTaR 3
e (Option ID = 146568 )
December 4 / faT%R 4
e (Option ID = 146569 )

December 5 lﬁﬂﬁ? 5



Option ID :-0Correct Answer :-(Option ID = 146568 ) December 4 / o 4
15)

Question ID :- (Question ID = 51670 )

Question Description :- HP12_GENERAL KNOWLEDGE_SET3Q11

Question Stimulus :-

Which of the following countries was hit by the Typhoon Chaba recently? | RIfSIRITEA TspaTd
7a1 819 &1 | e o 3 fore d=r o amar y12

e (Option ID = 146542 )
Mexico / Afdae!
¢ (Option ID = 146543 )
Chile / fareit
e (Option ID = 146544 )
Japan / STTUTH
e (Option ID = 146545)
Indonesia / SSIATRM™T
Option ID :-0Correct Answer :-(Option ID = 146544 ) Japan / SIT4Tq
16)
Question ID :- (Question ID =51673)
Question Description :- HP12_ GENERAL KNOWLEDGE_SET3Q14
Question Stimulus :-
John Key is the present Prime Minister of -/ W4 #1 aduE § g | I fg ¢ & g %'?
e (Option ID =146554)
England E7dS

e (Option ID =146555)

New Zealand / <eltAUS

e (Option ID = 146556)

Australia / 3fT¥cferaT

e (Option ID = 146557)

Sweden / Wigd



Option ID :-0Correct Answer :-(Option ID = 146555 ) New Zealand / T«‘Eﬂﬁvs
17)

Question ID :- (Question ID = 51663 )

Question Description :- HP12_ GENERAL KNOWLEDGE_SET3Q4

Question Stimulus :-

How many seats are there in the Madhya Pradesh Legislature at present? | I | HeA
Wt faur aur § farat Hid 82

« (Option ID = 146514 )
220

« (Option ID = 146515)
225

« (Option ID = 146516)
230

« (Option ID = 146517)
235

Option ID :-0Correct Answer :-(Option ID = 146516 ) 230

Topic:- General English
1)

Question ID :- (Question ID =51512)
Question Description :- HP12_GENERAL ENGLISH_SET4Q6
Question Stimulus :-

DIRECTIONS: Two sentences are given below with a blank in each. Fill in the blanks with a pair of suitable
words from the four options for each blank respectively:

A car collided witha __ vehicle.
He bought pen, paper and erasers from the
e (Option ID =145910)
stationary, stationery
e (Option ID =145911)
stationery, stationary
e (Option ID =145912)
stationary, stationary

« (Option ID = 145913 )



stationery, stationery
Option ID :-0Correct Answer :-(Option ID = 145910 ) stationary, stationery
2)
Question ID :- (Question ID =51519)
Question Description :- HP12_ GENERAL ENGLISH_SET4Q13
Question Stimulus :-
Fill in the blank with the correct set of prepositions.
They were divided ____two groups, with no girls ____ one group and no boys ____the other.
e (Option ID =145938)
in, of, of
e (Option ID = 145939)
into, in, in
e (Option ID =145940)
for, in in
e (Option ID = 145941)
by, in, in
Option ID :-0Correct Answer :-(Option ID = 145939 ) into, in, in
3)
Question ID :- (Question ID =51520)
Question Description :- HP12_GENERAL ENGLISH_SET4Q14
Question Stimulus :-
Choose a word that can be replaced for the given sentence.
A number of people listening to a lecture
e (Option ID =145942)
Audience
e (Option ID = 145943 )
Spectators
e (Option ID =145944)
Crowd
e (Option ID = 145945)

Orator



Option ID :-0Correct Answer :-(Option ID = 145942 ) Audience
4)
Question ID :- (Question ID =51513)
Question Description :- HP12_GENERAL ENGLISH_SET4Q7
Question Stimulus :-
Out of the given options, choose the one which is the correct passive voice of the sentence given below.
Who gave you these orders?
e (Option ID =145914)
By whom were you given these orders?
e (Option ID = 145915)
These orders were given by whom?
e (Option ID =145916)
Who has given you these orders?
e (Option ID =145917)
By whom has these orders been given to you?
Option ID :-0Correct Answer :-(Option ID = 145914 ) By whom were you given these orders?
)
Question ID :- (Question ID =51509)
Question Description :- HP12_GENERAL ENGLISH_SET4Q3
Question Stimulus :-

DIRECTIONS: A sentence with an underlined word is given below. Find the word which is opposite to the
highlighted word from the given options.

He was a feeble, helpless old man.

e (Option ID = 145898 )
weak

e (Option ID =145899)
sick

e (Option ID = 145900 )
slim

e (Option ID =145901)

strong



Option ID :-0Correct Answer :-(Option ID = 145901 ) strong
6)
Question ID :- (Question ID =51516)
Question Description :- HP12_GENERAL ENGLISH_SET4Q10
Question Stimulus :-
Out of the four sentences given below, choose the one which is grammatically incorrect.
e (Option ID =145926)
This question is too difficult to solve.
e (Option ID =145927)
She is so fat that she cannot run.
e (Option ID =145928)
Ben knows much more about movies than I do.
e (Option ID =145929)
The apple pie was as good like the one my grandmother used to make.

Option ID :-0Correct Answer :-(Option ID = 145929 ) The apple pie was as good like the one my
grandmother used to make.

7
Question ID :- (Question ID =51515)
Question Description :- HP12_GENERAL ENGLISH_SET4Q9
Question Stimulus :-
Fill in the blank with the correct word from the options given below.
The chief guest gave us his valuable
e (Option ID = 145922)
advises
e (Option ID = 145923)
advices
e (Option ID =145924)
advice
e (Option ID = 145925)
advise

Option ID :-0Correct Answer :-(Option ID = 145924 ) advice



8)

Question ID :- (Question ID = 51507 )

Question Description :- HP12_GENERAL ENGLISH_SET4Q1

Question Stimulus :-

Out of the given options which best expresses the meaning of the given proverb?

"Birds of a feather flock together."

(Option ID = 145890 )

Some people like to collect birds with colourful feathers

(Option ID = 145891 )

Birds that have colourful feathers are the most beautiful ones

(Option ID = 145892 )

Beautiful birds are found in groups

(Option ID = 145893 )
People like to spend time with others who are similar to them.

Option ID :-0Correct Answer :-(Option ID = 145893 ) People like to spend time with others who are
similar to them.

9)
Question ID :- (Question ID =51517)
Question Description :- HP12 GENERAL ENGLISH_SET4Q11
Question Stimulus :-
Out of the four options given below, choose the one with the correct meaning of the idiom.
“You can't judge a book by its cover”
e (Option ID =145930)
You cannot judge something primarily on the basis of outward appearance.
e (Option ID =145931)
You cannot make all the covers of the books extremely attractive
e (Option ID =145932)
You should judge everything on the basis of outward appearance
e (Option ID =145933)
You should buy books with unattractive or simple covers.

Option ID :-0Correct Answer :-(Option ID = 145930 ) You cannot judge something primarily on the basis
of outward appearance.



10)

Question ID :- (Question ID = 51508 )

Question Description :- HP12 GENERAL ENGLISH _SET4Q2
Question Stimulus :-

DIRECTIONS: A sentence with an underlined word is given below. Find the Word which is most similar in
meaning to the underlined word.

Modern computers can hold huge amounts of information.
e (Option ID = 145894 )
large
e (Option ID = 145895)
slight
e (Option ID = 145896 )
important
e (Option ID =145897)
extra
Option ID :-0Correct Answer :-(Option ID = 145894 ) large
11)
Question ID :- (Question ID = 51518 )
Question Description :- HP12 GENERAL ENGLISH_SET4Q12
Question Stimulus :-
Two sentences are given below. Choose the correct conjunction to join the given sentences.
You eat a huge plate of food for lunch.
I have just a sandwich.
e (Option ID =145934)
whereas
e (Option ID =145935)
despite
e (Option ID =145936)
in spite of
e (Option ID =145937)

as well as



Option ID :-0Correct Answer :-(Option ID = 145934 ) whereas
12)
Question ID :- (Question ID =51514)
Question Description :- HP12_GENERAL ENGLISH_SET4Q8
Question Stimulus :-
Out of the given options, choose the one which is the correct indirect speech of the sentence given below.
David said to his servant, “Do this work.”
e (Option ID =145918)
David ordered his servant to do that work.
e (Option ID =145919)
David requested his servant to do this work.
e (Option ID =145920)
David requested his servant to do that work.
e (Option ID =145921)
David allowed his servant to do this work.

Option ID :-0Correct Answer :-(Option ID = 145918 ) David ordered his servant to do that work.

13)
Question ID :- (Question ID =51522)
Question Description :- HP12_ GENERAL ENGLISH_SET4Q16
Question Stimulus :-
Once a famine broke out in a country. Everyday the children of a city of that country flocked at a rich man's
house to get loaves of bread. As soon as the servants brought out loaves, they fought among themselves and
struggled hard to get them. One little girl did not fight. She waited patiently for her turn and got the smallest
loaf last of all. One day as usual, she brought the smallest loaf. When she cut it, she found two rupees in it. She
went back at once to return the money. The rich man was pleased at her honesty. He gave her not only those
two rupees, but two rupees more as a reward.
What do you think would be the moral of the given extract?
e (Option ID = 145950 )
All good things come to an end
e (Option ID =145951)
Health is wealth

e (Option ID = 145952 )

Greed is a curse



e (Option ID =145953)
Patience brings its own reward.
Option ID :-0Correct Answer :-(Option ID = 145953 ) Patience brings its own reward.
14)
Question ID :- (Question ID = 51521)
Question Description :- HP12_ GENERAL ENGLISH_SET4Q15
Question Stimulus :-
Fill in the blank with the word given in the bracket along with the correct prefix out of the given four options.
We apologize for the  ( convenience) caused by the late arrival of the train.
e (Option ID =145946)
in
e (Option ID =145947)
sub
e (Option ID = 145948 )
im
e (Option ID =145949)
un
Option ID :-0Correct Answer :-(Option ID = 145946 ) in
15)
Question ID :- (Question ID = 51511)
Question Description :- HP12_GENERAL ENGLISH_SET4Q5
Question Stimulus :-

DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options, choose the
one which can be substituted for the given phrasal Verb.

The police looked into the case.
e (Option ID = 145906 )
Investigated
e (Option ID = 145907 )
Entered
e (Option ID = 145908 )

Described



e (Option ID = 145909 )
Reported
Option ID :-0Correct Answer :-(Option ID = 145906 ) Investigated
16)
Question ID :- (Question ID = 51523 )
Question Description :- HP12_GENERAL ENGLISH_SET4Q17
Question Stimulus :-

DIRECTIONS: Given below are four sentences with an incorrect order. Arrange them in a meaningful order
to form a coherent whole.

P. Central banks attempt to limit inflation, and avoid deflation
Q. and,consequently, the purchasing power of currency is falling.
R. Inflation is the rate at which the general level of prices for goods and services is rising
S. in order to keep the economy running smoothly.
e (Option ID =145954)
RQPS
e (Option ID = 145955)
QPRS
e (Option ID = 145956)
PQRS
e (Option ID = 145957)
SPRQ
Option ID :-0Correct Answer :-(Option ID = 145954 ) RQPS
17)
Question ID :- (Question ID =51510)
Question Description :- HP12_GENERAL ENGLISH_SET4Q4
Question Stimulus :-
Out of the given four words one is spelt incorrectly.Find the word that is incorrectly spelt
e (Option ID =145902)
criteria
e (Option ID =145903)
absollute

« (Option ID = 145904 )



abundant
e (Option ID =145905)
scarcity

Option ID :-0Correct Answer :-(Option ID = 145903 ) absollute

Topic:- General Hindi
1)

Question ID :- (Question ID = 51552 )
Question Description :- HP12_GENERAL HINDI_SET1Q12
Question Stimulus :-
T[S 9T BT II7 DIfore-
e (Option ID =146070)
SO U g8t 9T
e (Option ID =146071)
SHST UTUT & 3§ T
e (Option ID =146072)
Ao ¥ e[S @t A
e (Option ID =146073)
TAR U3 B TWER I Gt 81 @
Option ID :-0Correct Answer :-(Option ID = 146072 ) Ad H 3F® ART A
2)
Question ID :- (Question ID = 51555 )
Question Description :- HP12 GENERAL HINDI_SET1Q15

Question Stimulus :-

IRY 7 FHA B & R BT A | 3@ HipT UTdHr Al 7 3 S a9 R HI1 & faw xRy |
ST | TYPA fdaTd GUY TPR ol B TPbd d | ¥ $1 Us | 7Y $1 gg1 7afar & 1 39
USR §H YI&BT TSR 81 74T {6 10T Yo g Ia 918 R a9 3=9YT T8l g | 3o gieg A 9
foar, g1 3R it v oft 39 R o |

SRS TR BT H&YT PHTE-
« (Option ID = 146082 )

o JeRfe Tivta urg

« (Option ID = 146083 )



TP Sifel TST TEAT 3T UT0T 9 UR G 1 o1g
« (Option ID = 146084 )
TgFd A Ter Tt 3T 0T = 9 R g gl g
« (Option ID = 146085 )
SWRIad & | BIg T8l
Option ID :-0Correct Answer :-(Option ID = 146083 ) TqPd i<l TST Tt 3§ UT0T ST UR a1 =

516
3)
Question ID :- (Question ID = 51554 )
Question Description :- HP12_GENERAL HINDI_SET1Q14
Question Stimulus :-
FIPUT T THH §-
e (Option ID = 146078 )
acgey
e (Option ID = 146079 )
HHYRY
e (Option ID = 146080 )
%8
e (Option ID = 146081 )
fe
Option ID :-0Correct Answer :-(Option ID = 146079 ) FHYRY
4)
Question ID :- (Question ID = 51553 )
Question Description :- HP12_GENERAL HINDI_SET1Q13

Question Stimulus :-

i 1A DT e -
e (Option ID = 146074 )
Ia+Hfd

« (Option ID = 146075 )
'\"-IT-[+1=Iﬁ



e (Option ID = 146076 )
a+Afd
e (Option ID = 146077 )
qa+afa
Option ID :-0Correct Answer :-(Option ID = 146075 ) ﬂ?[ﬂzlﬁl'
S)
Question ID :- (Question ID = 51541 )
Question Description :- HP12_GENERAL HINDI_SET1Q1

Question Stimulus :-

fadsNTTsuEaase ?
« (Option ID = 146026 )
ABR BT 3 §- STYWT AT IR
« (Option ID = 146027 )
Higd-ade U PR Peard &
« (Option ID = 146028 )
APRI & TRT | HT AFERI § 91T 8
e (Option ID =146029)
SR aft
Option ID :-0Correct Answer :-(Option ID = 146029 ) SURIad I}
6)
Question ID :- (Question ID = 51543 )
Question Description :- HP12_GENERAL HINDI_SET1Q3

Question Stimulus :-

o fafaa 6 ot & wuw g sifow fAfia 8, v ot SRa w0 o wafRya Fifme-
01 AT S ¥ IWReIIa &1

- Siia § Aol T $-1 & forg

Y- faRiy =41 B 1 S1aTun &Y gR #e & fag wd

- ITRGIRIE 31 9H R 9%

g- IR BT ST 3ifY SfTawae |



06- §SHT 8l AT B

e (Option ID = 146034 )
g¥dd
e (Option ID =146035)
RgAdd
e (Option ID =146036)
XddAdY
e (Option ID =146037)
RddY
Option ID :-0Correct Answer :-(Option ID = 146035 )Y dd
7
Question ID :- (Question ID = 51550 )
Question Description :- HP12_GENERAL HINDI_SET1Q10
Question Stimulus :-
“gg SURTE T, SHfeg I Her freft are 3-
e (Option ID = 146062 )
fay ar
e (Option ID = 146063 )
Y AT
e (Option ID = 146064 )
I dI
e (Option ID =146065)
SWRIF d A BIs A81
Option ID :-0Correct Answer :-(Option ID = 146063 ) Tgdd dTad
8)
Question ID :- (Question ID = 51545 )
Question Description :- HP12 GENERAL HINDI _SET1QS5

Question Stimulus :-

TTH TG BT I9 PHifole-



(Option ID = 146042 )

Pl
(Option 1D = 146043 )

LE]

(Option ID = 146044 )
ot

(Option ID = 146045 )

4

RIE]
Option ID :-0Correct Answer :-(Option ID = 146043 ) UA
9)
Question ID :- (Question ID = 51547 )
Question Description :- HP12_GENERAL HINDI_SET1Q7
Question Stimulus :-
Agar ¥ g Ugdan-e-

(Option ID = 146050 )

ST

(Option ID = 146051 )

G

(Option ID = 146052 )

!
(Option ID = 146053 )

d
Option ID :-0Correct Answer :-(Option ID = 146051 ) <T
10)
Question ID :- (Question ID = 51548 )
Question Description :- HP12_GENERAL HINDI_SET1QS8

Question Stimulus :-
Frafafed arel ot gfd Sugea geray 9 sifoe-
«T1Tq aTell & UL & 3T U MBI Bl........o.o | ”



(Option ID = 146054 )
CIEATCRRIH

(Option ID = 146055 )
et Jy 71

(Option ID = 146056 )
IR Wg B Y
(Option ID = 146057 )
CHZT T T

Option ID :-0Correct Answer :-(Option ID = 146055 ) ford} Sy Tl's:

11)
Question ID :- (Question ID = 51551 )
Question Description :- HP12_GENERAL HINDI_SET1Q11
Question Stimulus :-
@ T & qUI BT TR VM 3
e (Option ID = 146066 )
drdsq
e (Option ID = 146067 )
R
e (Option ID = 146068 )
3iieaa
e (Option ID = 146069 )
ATRpT
Option ID :-0Correct Answer :-(Option ID = 146067 ) 1]
12)
Question ID :- (Question ID = 51546 )
Question Description :- HP12_GENERAL HINDI_SET1Q6
Question Stimulus :-
‘YR’ BT YITgaT Weg GHTI-

« (Option ID = 146046 )



3ifés
e (Option ID = 146047 )
e
e (Option ID = 146048 )
'Y
e (Option ID = 146049 )
g
Option ID :-0Correct Answer :-(Option ID = 146047 ) ¥q
13)
Question ID :- (Question ID = 51544 )
Question Description :- HP12_GENERAL HINDI_SET1Q4
Question Stimulus :-
fere dferral # B o1 97 Fifere-
«oft 7% TROT WRAST 3o, Fret 71 gpe gy |
A1 YgaR faua o9, <t grae e 9 -
(Option ID = 146038 )

|

(Option ID = 146039 )

EILIE

(Option ID = 146040 )

ARSI

(Option ID = 146041 )
3T

Option ID :-0Correct Answer :-(Option ID = 146038 ) ﬁ?T

14)
Question ID :- (Question ID = 51557)
Question Description :- HP12_GENERAL HINDI_SET1Q17

Question Stimulus :-

ru & I8 9= &1 I= Fifere-



(Option ID = 146090 )
ot

(Option ID = 146091 )

ferarg

(Option ID = 146092 )

forsg

(Option ID = 146093 )

wiors

Option ID :-0Correct Answer :-(Option ID = 146091 )ﬁlﬁ'li

15)
Question ID :- (Question ID = 51556 )
Question Description :- HP12_GENERAL HINDI_SET1Q16
Question Stimulus :-
IR & R[S YR BT T4 BIfore-
e (Option ID = 146086 )
wra:q+t faermer §
e (Option ID = 146087 )
HTYOT Ffafrnsif &7 smater
e (Option ID = 146088 )
IR foemeft TR R ElaT ?
e (Option ID = 146089 )
P 3fe et
Option ID :-0Correct Answer :-(Option ID = 146086 ) UTd: 9} faemeaa #
16)
Question ID :- (Question ID = 51549)
Question Description :- HP12_GENERAL HINDI_SET1Q9
Question Stimulus :-
o e w15 W9 f5w 79 ¥ uran S 82

e (Option ID = 146058 )



dR ™
e (Option ID =146059)
XYL
e (Option ID = 146060 )
YR 3
e (Option ID = 146061 )
EZES ]
Option ID :-0Correct Answer :-(Option ID = 146060 ) %[‘TR' EL3 |
17)
Question ID :- (Question ID = 51542)
Question Description :- HP12_GENERAL HINDI_SET1Q2
Question Stimulus :-
fa 2reg) 7 9 S ¥fd g p AT B2
e (Option ID =146030)
SITH
e (Option ID =146031)
sfcd
e (Option ID = 146032)
ARPR
e (Option ID =146033)
PRI
Option ID :-0Correct Answer :-(Option ID = 146033 ) WYHT

Topic:- General Maths
1)

Question ID :- (Question ID =51767)
Question Description :- HP12_GENERAL MATHS_SET4Q6
Question Stimulus :-

A shopkeeper uses a weight of 460 g instead of 500 g and sells the articles at the cost price.
What is the profit percentage?/ T% PTG 500 ITH & RITH UR 460 TTH BT dic STANT HRdl
2 3R axgaii & 3P 9 Yo W 394l 8, TP ATY BT Ufar=rd w1 82

e (Option ID =146930)



40%

« (Option ID = 146931 )

17

22%

« (Option ID = 146932 )

16

2%
e (Option ID =146933)
20%

16
Option ID :-0Correct Answer :-(Option ID = 146932) 3%

2)

Question ID :- (Question ID =51778)

Question Description :- HP12_GENERAL MATHS_SET4Q17
Question Stimulus :-

The length of a rectangular plot is 20 meters more than its breadth. If the cost of fencing the
plot at ¥26.50 per meter is ¥5300, what is the length of the plot in meters? / U TddTHR

Y B TETs, SIS A 20 Hiew Af® § | afe Y& o 91¢ T+ ot B4 226.50 Ul ez ot
e 9 5300 B, df YT B! awaTs Hiex # fFa-t g2

e (Option ID = 146974 )

60

e (Option ID = 146975)
50

e (Option ID =146976)
120

e (Option ID = 146977)

Can’t be determine / frerifa =&Y fovam w1 T&an
Option ID :-0Correct Answer :-(Option ID = 146974 ) 60
3)

Question ID :- (Question ID = 51774 )
Question Description :- HP12_GENERAL MATHS_SET4Q13
Question Stimulus :-

Train A took 35 minute to cover a distance of 50 km. If the speed of train B is 25% faster
than train A, it will cover the same distance in:/ 27-[ A, 50 fot. o1 §'\Ff T B A 35 fide &1



g At g, afe 371 B 3 7fa, o7 A BT 71fd | 25% 34U 7, af 3P gRT IUH g3 a9 H3A o
ferar T w9a ghm:

(Option ID = 146958 )
25 minute/25 fi e
e (Option ID = 146959 )
28 minute/28 fi e
e (Option ID = 146960 )
30 minute/30 fiFe
« (Option ID = 146961 )
36 minute/36 e
Option ID :-0Correct Answer :-(Option ID = 146959 ) 28 minute/28 fire
4)
Question ID :- (Question ID = 51764 )
Question Description :- HP12_GENERAL MATHS _SET4Q3

Question Stimulus :-

What will come in place of Question mark (?) in the following number series? | fFafataa
TSI YUITelt § yaras g (?) & R IR T SRAM?

5, (?), 15, 37.5, 112.5
e (Option ID = 146918)
5.5
e (Option ID =146919)
7.5
e (Option ID =146920)
9.5
e (Option ID = 146921)
13.5
Option ID :-0Correct Answer :-(Option ID = 146919 ) 7.5
S)
Question ID :- (Question ID =51771)
Question Description :- HP12_GENERAL MATHS_SET4Q10

Question Stimulus :-



Efficiency of Jenelia is 25% more than Jessica and Jessica takes 25 days to complete a
piece of work. Jenelia started a work alone and then Jessica joined her 5 days before actual

completion of the work, for how many days Jenelia worked alone?/ﬁﬁmaﬁaﬂﬁ&m
SRTT & 25% Sif¥re 7 3R SR Te o1 &t 25 A1 # Q1 el 7 | SAferar 7 et dro
TR far iR w1 gul g9 & 1w uid a1 ugd SR 3as a1y i g5, sferar A feam
et 9@ b d w1 fHar?

e (Option ID = 146946 )
9 days/9 feq
e (Option ID = 146947 )
11 days/11 fa=
e (Option ID = 146948 )
10 days/10 f&=
« (Option ID = 146949 )
15 days/15 fea
Option ID :-0Correct Answer :-(Option ID = 146947 ) 11 days/11 fea
6)
Question ID :- (Question ID = 51776 )
Question Description :- HP12_GENERAL MATHS_SET4Q15
Question Stimulus :-
One red flag, three white flags and two blue flags are arranged in a line such that:
I. No two adjacent flags are of the same colour.
Il. The flags at the two ends of the line are of different colours.
In how many different ways can the flags be arranged?/
TS dTd gieT, 9 9be 32 3R 31 fiat 31 ue Ufed & 59 UpR wafRka &, i
PR A PSS HEIMFTE |
I1. Ufed & S BRI IR &7 $S ST 3T 3 & B |
gisi 3 fora afiel & saafeya far oI wwar g2
e (Option ID = 146966 )
6
e (Option ID = 146967 )
4

e (Option ID = 146968 )



10
e (Option ID = 146969 )

2
Option ID :-0Correct Answer :-(Option ID = 146966 ) 6
7)
Question ID :- (Question ID =51775)
Question Description :- HP12_ GENERAL MATHS_SET4Q14
Question Stimulus :-

If the average marks of 4 batches of 45, 55, 65 and 75 students is 20, 30, 40 and 50
respectlvely, then the average marks of all the student |s’?f€lﬁ 45, 55, 65 3R 75 fyenflay arat

4 TUEI & 3NTd 3P HU: 20, 30, 40 31X 50 T, Tt R & sivya ofd &
« (Option ID = 146962 )
35.75
e (Option ID = 146963 )
37.08
« (Option ID = 146964 )
39.05
e (Option ID = 146965 )
41.57
Option ID :-0Correct Answer :-(Option ID = 146963 ) 37.08
8)
Question ID :- (Question ID = 51768 )
Question Description :- HP12_GENERAL MATHS_SET4Q7

Question Stimulus :-

1
An amount becomes ¥3795 in 3 years and ¥4537.50 in 7° years on simple interest. Find the
1

rate of interest per annum. /ﬁs‘ TFRT ATYROT ST X 3 9T & 23795 9UT 72 96T § 24537.50 33[
STl 8 | ST Bt a1 & JTd P |

e (Option ID = 146934)
6%

e (Option ID =146935)
4%



e (Option ID = 146936)
4.5%
e (Option ID =146937)
5%
Option ID :-0Correct Answer :-(Option ID = 146937 ) 5%
9)
Question ID :- (Question ID =51770)
Question Description :- HP12_GENERAL MATHS_SET4Q9
Question Stimulus :-

A solutions of salt and water contains 20% salt by weight, out of it 20 kg water evaporates and the solution now
contains 25% of the salt. The original quantity of solution was:/STdl 3R THH & TH faaa-1 H YR HT20% U §,
3T ¥ 20 fHIm U &1 arefievor F39 U= Ut faaa= ® 25% 9@ 31 9} faeas @) arafas ar

e (Option ID = 146942 )
100 kg/100 fFam
e (Option ID =146943)
110 kg/110 fFaT
e (Option ID = 146944 )
115 kg/115 foFaT
e (Option ID =146945)
120 kg/120 fFam
Option ID :-0Correct Answer :-(Option ID = 146942 ) 100 kg/100 e
10)
Question ID :- (Question ID = 51762 )
Question Description :- HP12_ GENERAL MATHS_SET4Q1

Question Stimulus :-

3 3
0.2 —2.02 0.3—2.03
+

—_ 3
axos1 jg equal to:/ ~ 2%05: & SRR &

« (Option ID = 146910)
0.75

« (Option ID = 146911 )
1.5



e (Option ID = 146912)
15
e (Option ID =146913)
0.15
Option ID :-0Correct Answer :-(Option ID = 146911 ) 1.5
11)
Question ID :- (Question ID =51773)
Question Description :- HP12_GENERAL MATHS_SET4Q12

Question Stimulus :-

1

A is twice as fast as B and B is thrice as fast as C. The journey covered by C in 2 hours will

be covered by A in JABIANFI AT TAGTI g 3R B, CA T AT dA IaaTg IC P

1
FRIZCRATMH TEGRAFERT_ Faaarh |
e (Option ID = 146954 )
5 minutes / 5 fiFe
e (Option ID =146955)
15 minutes / 15 fFe
e (Option ID =146956)
1 hour / 1 ¥eT
e (Option ID = 146957)
1.5 hours /1.5 T
Option ID :-0Correct Answer :-(Option ID = 146954 ) 5 minutes / 5 fire
12)
Question ID :- (Question ID =51772)
Question Description :- HP12 GENERAL MATHS SET4Q11
Question Stimulus :-

Two pipes A and B can fill a cistern in 6 and 8 minutes respectively. If A starts the work and they be turned
on alternatively for one minute each, how long will it take to fill the cistern?/ E.TTWIA 3B wmﬁm; 6
3R 8 e W wR T € 1 7fe A T YRT F3a1 8 3R A Th-Us e & o I.ard @ @ o &, A U Y aRA
H {1 9wg

e (Option ID =146950)

3 3

37 minutes/37 fiFie



« (Option ID = 146951 )
6 minutes/6 i

« (Option ID = 146952 )

3 3

6* minutes/6* firTe
e (Option ID =146953)
& &
6’ minutes/6” fiFe
3 3
Option ID :-0Correct Answer :-(Option ID = 146952 ) 6* minutes/6* fire

13)
Question ID :- (Question ID = 51766 )
Question Description :- HP12_GENERAL MATHS_SET4QS5
Question Stimulus :-
If M% of x is y and N% of y is x, then:/“qﬁbeTM%, y%\%ﬁ?y?ﬂ N%, x%ﬂﬁ-
e (Option ID =146926)
M+N=100
e (Option ID = 146927 )
MN = 10000

« (Option ID = 146928 )
M
— =100
N

« (Option ID = 146929 )
N
— =100
M

Option ID :-0Correct Answer :-(Option ID = 146927 ) MN = 10000
14)

Question ID :- (Question ID = 51763 )

Question Description :- HP12_GENERAL MATHS_SET4Q2

Question Stimulus :-

What should come in place of the question mark (?) in the following questions?fﬁ'&lﬁ'@ﬁ
Uy § gyaras I (?) & RITH U= 71 TAM?

453 x 33.15552 =7



e (Option ID = 146914 )
42350
e (Option ID =146915)
43250
e (Option ID = 146916 )
45320
e (Option ID = 146917 )
45230
Option ID :-0Correct Answer :-(Option ID = 146914 ) 42350
15)
Question ID :- (Question ID =51777)
Question Description :- HP12_GENERAL MATHS_SET4Q16
Question Stimulus :-

The price of a pen, a book and a shirt are ¥56, ¥72, and ¥120 respectively. How much
minimum money should a person take with him so he can purchase either of articles in

natural numbers and saves %20. IQTJFaT-[, wmﬁeﬁvwmﬂﬁaﬁaﬁmm ¥56, 72
3R 2120 B | TP afda &1 gAaH fara-it AR dH= =1 A1 arfes 98 379 | [} W axg &)
WP d T § We P 3R 220 B g9d B J& |

e (Option ID =146970)
2540
e (Option ID = 146971)
2680
e (Option ID = 146972)
2860
e (Option ID =146973)
%2900
Option ID :-0Correct Answer :-(Option ID = 146970 ) ¥2540
16)
Question ID :- (Question ID = 51765)
Question Description :- HP12_GENERAL MATHS_SET4Q4

Question Stimulus :-

Find the wrong term in the given series: ld’fﬁ?{' Q‘Uﬁﬁ'ﬂﬁﬁq‘dﬁﬁﬁ:



157.5, 45, 15, 6, 3, 2, 1
¢ (Option ID = 146922)
1
e (Option ID = 146923 )
2
e (Option ID = 146924 )
6
e (Option ID = 146925)
157.5
Option ID :-0Correct Answer :-(Option ID = 146922 ) 1
17)
Question ID :- (Question ID = 51769 )
Question Description :- HP12. GENERAL MATHS SET4Q8
Question Stimulus :-

The ages of Ram and Shyam are in the ratio 2 : 1. After five years, the ratio of their ages will
be 3 : 2. Their present ages respectively are:/ ITH 3R T &} gadT= ST HT AJUTd 2 : 1 % I
Ui aY UYTd IAPT Y BT ST 3 : 2 B SATTC | AP IAHT 3Tg HU: 7

e (Option ID = 146938 )
20 years and 10 years / 20 T 3k 10
e (Option ID = 146939 )
10 years and 5 years / 10 T 3R 5 T
e (Option ID = 146940 )
15 years and 5 years / 15 T 3R 5 T
e (Option ID = 146941 )
40 years and 20 years / 40 aY 3k 20 T
Option ID :-0Correct Answer :-(Option ID = 146939 ) 10 years and 5 years / 10 a9 3R 5 atf

Topic:- General Computer

D
Question ID :- (Question ID = 51803 )
Question Description :- HP12_ COMPUTER_SET1Q8

Question Stimulus :-



Convert the binary number 1011010 to hexadecimal./ ST JWAT 1011010 DI gqaTSHIHA |
ufvafda &% |
e (Option ID =147074)
5F
e (Option ID = 147075)
5A
e (Option ID =147076)
5B
e (Option ID =147077)
5C
Option ID :-0Correct Answer :-(Option ID = 147075 ) 5A
2)
Question ID :- (Question ID = 51809 )
Question Description :- HP12 COMPUTER _SET1Q14

Question Stimulus :-

The Internet was originally a project of which agency?l?g?'{ﬁ? qraa | fe Eﬁﬁ GRS
Yr?

e (Option ID =147098 )

A.RPA./TIR.U.T.

e (Option ID = 147099 )

N.S.F./ T4.¢H.UD.

e (Option ID = 147100 )

N.S.A./T4.TH.T.

e (Option ID = 147101)

None of the above/ UG H I ﬁi T-Iﬁ
Option ID :-0Correct Answer :-(Option ID = 147098 ) A.R.P.A./ T3[R tﬂ'Q’
3)

Question ID :- (Question ID =51797)
Question Description :- HP12_ COMPUTER_SET1Q2

Question Stimulus :-



Which one of these stores more data than a DVD?IB‘-I’I?r' T B SIS Bt LGEL s | Wlql SIcT
TIE BT 872

e (Option ID =147050)
CD-ROM/ HISIH
« (Option ID = 147051 )
Floppy Disk/ TaTul f$T®
« (Option ID = 147052)
Blue Ray Disk/ & ¥ f&&%
e (Option ID =147053)
Red Ray Disk/ 38 ¥ f&%®
Option ID :-0Correct Answer :-(Option ID = 147052 ) Blue Ray Disk/ ﬂi’ fewr
4)
Question ID :- (Question ID = 51806 )
Question Description :- HP12_ COMPUTER_SET1Q11

Question Stimulus :-

%Vhich of the following is a secondary memory device?/fA9 # | P9 Abss! AHRL %HTE'H
?

e (Option ID = 147086 )
Keyboard/ CACIE)
e (Option ID = 147087 )
Disk/ f&%
e (Option ID = 147088 )
ALU./T.TA.Y.
e (Option ID = 147089 )
All of the above/ SURIaRT A
Option ID :-0Correct Answer :-(Option ID = 147087 ) Disk/ fe
)
Question ID :- (Question ID =51799)
Question Description :- HP12_ COMPUTER_SET1Q4

Question Stimulus :-



SQL stands for: /[THRTA HadTdl &
« (Option ID = 147058 )
Structured Query Language/'\iﬂil'é P A
e (Option ID =147059)
Sequential Query Language/ﬁ?@\’dﬁ P Ao
e (Option ID = 147060 )
Structured Question Languagem Py daw
e (Option ID = 147061 )
Sequential Question Language/@w\’dﬁ FYq AW

Option ID :-0Correct Answer :-(Option ID = 147058 ) Structured Query Languagelmé C il

6)
Question ID :- (Question ID = 51807 )
Question Description :- HP12_ COMPUTER_SET1Q12
Question Stimulus :-
The Operating System Manages / STy Rieey Fafa swar %
e (Option ID = 147090 )
Processes/ IO
e (Option ID =147091)
Memory/ AARY
e (Option ID = 147092 )
Disks and Input/Output devices/ fep 3R {1Yc/3T3cYc %HTE'@W
e (Option ID =147093)
All of the above/ SURIST THT
Option ID :-0Correct Answer :-(Option ID = 147093 ) All of the above/ SR I+
7
Question ID :- (Question ID = 51808 )
Question Description :- HP12_ COMPUTER_SET1Q13
Question Stimulus :-

Which is a search enginefﬁ?ﬁﬁﬁ?@ﬂéﬁ?%—



e (Option ID =147094)
Flash/ W1
e (Option ID =147095)
Google/ T[ITcT
e (Option ID = 147096 )
Internet explorer/ S'Tt_’ﬁf Eﬂ'\‘l’@ﬁﬂ
e (Option ID = 147097 )
Firefox/ ThTOR WIad
Option ID :-0Correct Answer :-(Option ID = 147095 ) Google/ T[ITcl
8)
Question ID :- (Question ID = 51800 )
Question Description :- HP12_ COMPUTER_SET1Q5

Question Stimulus :-

In which of these topology there is a central controller or hub?lFH?f ¥ fore erayare o ﬁg?r
PelaR AYTT &9 BT 82

(Option ID = 147062 )

Star/ &R

(Option ID = 147063 )

Mesh/@AST

(Option ID = 147064 )
Ring/ &

(Option ID = 147065 )

Bus/ ¥
Option ID :-0Correct Answer :-(Option ID = 147062 ) Star/ I€IX
9)
Question ID :- (Question ID = 51805 )
Question Description :- HP12_ COMPUTER_SET1Q10
Question Stimulus :-
The benefit of using a firewall for LAN is/ LAN A BRRATd BT ITIRT B3 TR aﬁ dTell Ty %:

« (Option ID = 147082)



It provides greater security to LAN/Adg LEKa GR&T Ul hrdl %
e (Option ID =147083)

It prov%ide stricter access control to critical resources/dg 3{-vild T R = '[G]
Dl

e (Option ID = 147084 )
Both the above/ SURIa I
e (Option ID =147085)
None of the above/ IURIad & I Hﬁﬁ T-Iﬁ
Option ID :-0Correct Answer :-(Option ID = 147084 ) Both the above/ SWRIad gl
10)
Question ID :- (Question ID = 51796 )
Question Description :- HP12_ COMPUTER_SET1Q1
Question Stimulus :-
What we need in an inkjet printer?lﬁﬁ?ﬁﬁﬁw GI'IEW@HT% ?
e (Option ID = 147046 )
A cartridgem'&'ﬁ
e (Option ID = 147047 )
A drum/gH
e (Option ID = 147048 )
A ribbon/RRe=
e (Option ID = 147049 )
None of the above/SWRIad H I Hﬁé "-Iﬁ
Option ID :-0Correct Answer :-(Option ID = 147046 ) A cartridgelﬂ"l?ﬁﬁ
11)
Question ID :- (Question ID = 51802 )
Question Description :- HP12_ COMPUTER_SET1Q7
Question Stimulus :-
One byte represents a group of?/ Udh dIgc fadafea qqg Cal Ilaﬁh Dl %?
e (Option ID =147070)

20 bits/20 faex



e (Option ID =147071)
2 bits/2 faey
e (Option ID =147072)
40 bits/40 fae
e (Option ID =147073)
8 bits/8 faeH
Option ID :-0Correct Answer :-(Option ID = 147073 ) 8 bits/8 ﬁ'{\q
12)
Question ID :- (Question ID = 51798 )
Question Description :- HP12_COMPUTER_SET1Q3
Question Stimulus :-

Which of the following item is not an advantage of DBMS?/fA¥ & § ®19-9T U& S1.41.0H.TH.

PIATY AR § ?
e (Option ID = 147054 )
Improved ability to enforce standards / HIH® FI'I'{LW & forg erpar o q@ HIAT
e (Option ID =147055)
Improved data consistency/ STCT HITHdT i q@
e (Option ID = 147056 )
Local control over the data/ STeT UR YT FRG0T ST
e (Option ID =147057)
Minimal data redundancy/ Sffaf¥a sTe1 9 ST

Option ID :-0Correct Answer :-(Option ID = 147056 ) Local control over the data/ STCT UX YTHA

ferd=or ST

13)
Question ID :- (Question ID = 51804 )
Question Description :- HP12_ COMPUTER_SET1Q9

Question Stimulus :-

The virus that spread in application software is called as:/ Q‘Eﬂﬁﬂ{ﬁ ITred? § e ardr
IRRY Hedrdl &

e (Option ID =147078)

Boot virus/ §¢ dia¥d



e (Option ID = 147079 )
Macro virus/ #sh! TR
e (Option ID = 147080 )
File virus/ WIS dIgXH
e (Option ID = 147081 )
Anti-virus/ t{ﬁ qigRy
Option ID :-0Correct Answer :-(Option ID = 147079 ) Macro virus/ AP TR
14)
Question ID :- (Question ID = 51801 )
Question Description :- HP12_ COMPUTER_SET1Q6
Question Stimulus :-
Which transmission used by Modems./ HISY gRT fvw 'gfl'\‘lﬁl"«’ﬁ ®T SUART foar SiraT 872
e (Option ID = 147066 )
Synchronous/ Ris<1
e (Option ID = 147067 )
Asynchronous/ IR EIE |
e (Option ID = 147068 )
timed interval/ TTSTS $cXdd
e (Option ID = 147069 )
Ata/dct
Option ID :-0Correct Answer :-(Option ID = 147067 ) Asynchronous/ SR
15)
Question ID :- (Question ID =51810)
Question Description :- HP12_ COMPUTER_SET1Q15
Question Stimulus :-
What is full form of VIRUS?/ 9RIRH HT RT ATH &-
e (Option ID = 147102)
Vitalise Information Resources Under Siege/ HEETI@ w‘ﬁm oty siev Wiw

« (Option ID = 147103)



Vital Informational Resources Under Siege/ dIgcd Wﬁ‘x’lﬂﬁ e sise i
« (Option ID = 147104 )

Vital Information Resources Under Siege/ dIgcd EWI’&'-«’F-[ g siew diw
« (Option ID = 147105)

Vital Information Resources Undead Siege dIgcd EWI’&'-«’F-[ e siss e

Option ID :-0Correct Answer :-(Option ID = 147104 ) Vital Information Resources Under Siege/

qIgcd SABEMHA R 3fs? Hie

Topic:- General Aptitude
1)

Question ID :- (Question ID = 51915)
Question Description :- HP12_GENERAL APTITUDE_SET3Q11
Question Stimulus :-

One morning after sunrise, Sunil was standing facing a pole. The shadow of the pole fell

exactly to his right, which direction was he facing?wyw %Uﬂﬁ, ﬂTﬂH w@ﬁ
P 3R T ISP TSI AT | T B TRBT3 ISP S1P T3 MR Id1 8, 98 59 fo=n ot iR g

fPaguar |

e (Option ID =147522)
Eastfqﬁ

e (Option ID =147523)
South/gf&or

e (Option ID =147524)
West/af3

e (Option ID = 147525)

Data Inadequate/ Gﬁ'ﬁ 3qie

Option ID :-0Correct Answer :-(Option ID = 147523 ) Southla'fEI'UT
2)

Question ID :- (Question ID = 51906 )

Question Description :- HP12 GENERAL APTITUDE_SET3Q2
Question Stimulus :-

CANCELLED

DIRECTIONS: In the question below, there are few statements followed by few conclusions.
You have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically follow(s)



from the given statements./fFIE3T: i 3T T U7 § $© HY 3R IS 91¢ o fwwpd faw
e & | U AT e A SU= B I 4191 8 HA 81 3 gdyd au @ i udla gl 8l |

I el #t ufen bR aa Fifve i 2w e fAewut & A Hi9 1 ahiTa 3 A SgIR01 Bl
2, IR Jdgd am po W El |

Statements:/®Y:
No stick is door./®IE Bel, SATST T8l & |
All doors are pens.mﬂ-ﬂ Wﬁ, aqqﬁ% |
Some pens are houses./PD ﬂT-[, ER'% |
Conclusions:/frsw:
I. No stick is house.lﬁ's: iﬁ'ﬁ, Wqﬁ% I
Il. Some pens are doors./[$S aT-I, m@f% |
e (Option ID = 147486 )
If only Conclusion | foIIowsIEIﬁ Fad s | ST BT %
e (Option ID =147487)
If only Conclusion Il follows/af¢ Fad s 1| ST HdT g
e (Option ID = 147488 )
If neither Conclusion | nor Il foIIowsR?Iﬁ Jfsed 171 ST Bl %
e (Option ID = 147489 )
If both Conclusions | and Il follow/afe g frepd GI'-;I,'\“ITUTW%

Option ID :-0Correct Answer :-(Option ID = 147487 ) If only Conclusion Il follows/afe Fad
s 11 SrgERvUT HRaT B

3)

Question ID :- (Question ID = 51914 )

Question Description :- HP12_GENERAL APTITUDE_SET3Q10
Question Stimulus :-

Ram starts from a point A and walks 6 km North, then turns left and walks 8 km. Then turns
left and walk 12 km up to the point B. In which direction Ram is facing now?R'IﬂWﬁg Ad
TR HdT 8 3R 6 fHH IR o1 3R Teran 8, fb= a1 goar 3 i 8 fref garar @ | fbr e
o1 § 3R g B a 12 forht gerar | | 3ra v &1 g frw fazm &6t 3k 32

« (Option ID = 147518)
North/3«i®

« (Option ID = 147519)



South/gf&ror

e (Option ID = 147520 )
Eastfll?f

e (Option ID = 147521)

West/af3yg

Option ID :-0Correct Answer :-(Option ID = 147519 ) South/ﬂ'f&l’UT
4)

Question ID :- (Question ID = 51911)

Question Description :- HP12_GENERAL APTITUDE_SET3Q7
Question Stimulus :-

DIRECTIONS: In each of the following questions, choose the set of numbers out of the four
options that is similar to the given set. e T T yd® Y9 H IR fAeenl § 9 T
AT & FYE BT T B ol {GT ¢ IYg & GHH & |

(6, 13, 22)
e (Option ID = 147506 )
(6, 13, 27)
e (Option ID = 147507 )
(10, 16, 28)
e (Option ID = 147508 )
(11, 18, 27)
e (Option ID =147509)
(13, 19, 22)
Option ID :-0Correct Answer :-(Option ID = 147508 ) (11, 18, 27)
)
Question ID :- (Question ID =51910)
Question Description :- HP12_GENERAL APTITUDE_SET3Q6
Question Stimulus :-

In a certain code language, 'ORIENTAL' is written as '"MBUOFJSP'. How is 'COWARDLY'
written in that code language?/ f&=it fAf3/d % UTIT § 'ORIENTAL' &1 'MBUOFJSP’ &1 ferar
STdT g | ST HeHTHT | '"COWARDLY' i {5 YR fordi?

« (Option ID = 147502)

ZMESDPXB



e (Option ID = 147503 )
XKCQBXPD
e (Option ID = 147504 )
ZMESDXBP
e (Option ID = 147505)
ZMESBXPD
Option ID :-0Correct Answer :-(Option ID = 147505 ) ZMESBXPD
6)
Question ID :- (Question ID =51917)
Question Description :- HP12 GENERAL APTITUDE SET3Q13

Question Stimulus :-

1If 26t J anuary 2011 was Wednesday, then what day of the week was it on 26th January 2012? 'Clﬁ

26 SFERY 2011 BT FUAR AT, °f TWTE BT HI AT &1 26t T 2012 Y 412
e (Option ID = 147530 )
Mondayl'\‘ﬁ'l:fél'f"\r
e (Option ID = 147531)
Tuesday/HddR
e (Option ID = 147532)
Wednesday/gHdRk
e (Option ID = 147533)
Thursday/ [SdIR
Option ID :-0Correct Answer :-(Option ID = 147533 ) Thursday/ TSdR
7
Question ID :- (Question ID = 51920 )
Question Description :- HP12 GENERAL APTITUDE_SET3Q16

Question Stimulus :-

DIRECTIONS: In the question, relationship between different elements is shown in the Statements.
These Statements are followed by two Conclusions. Read the conclusions based on the statements
carefully and choose the certain answer from the given options./fAdzr: ﬁﬁqwuﬂﬁ FY 0 TS
3agal & fg ® Jra T MU € | Fyl & a1¢ fAewd fou 1w § | #yA1 wR st fsesf @) eryds ufee
3R A T 7 ¥ v fAfda IR &1 9 ST |

Statements:/®Y:

N=Z,C>G,G>N,N>R,J>C



Conclusions:lﬁ'ﬁlﬂf:
. G>Z
II. C>R

(Option ID = 147542)
If only Conclusion | follows/afe Faa fewd | ST BT 3
« (Option ID = 147543 )
If only Conclusion Il foIIowsRT% Fad e 11 SITARUT HIdT %
e (Option ID = 147544 )
If either Conclusion l or Il foIIowsRT% gral st 1 ann SIJHRUT BT %
e (Option ID =147545)

If both Conclusions | and Il follow/afg G fAspd 3R B &

Option ID :-0Correct Answer :-(Option ID = 147545 ) If both Conclusions | and Il followrafq
a1 forsp argeRor B @

8)

Question ID :- (Question ID = 51919 )

Question Description :- HP12_GENERAL APTITUDE_SET3Q15

Question Stimulus :-

A cube of edge 4 cm is painted on all its face and is then cut into smaller cubes of volume 1
cm3. How many smaller cubes painted from one face only?/U® 4 Tt Yt I g9 & gt
HAB! Bt T T 3R 6T I/ 1 AP & B ¥4l # Fre f&ar T 7 | fram |1 w1 &1 daa
TP BAD Wi gRM?

e (Option ID =147538)
12
e (Option ID =147539)
24
« (Option ID = 147540 )
16
e (Option ID =147541)
32
Option ID :-0Correct Answer :-(Option ID = 147539 ) 24
9)

Question ID :- (Question ID = 51909 )



Question Description :- HP12 GENERAL APTITUDE_SET3QS5

Question Stimulus :-

How many rectangles are there in the following figure?/ = \?vl'lﬁ H fra smua %'?

e (Option ID = 147498 )
10
e (Option ID =147499)
1"
¢ (Option ID = 147500 )
12
e (Option ID = 147501)
13
Option ID :-0Correct Answer :-(Option ID = 147499 ) 11
10)
Question ID :- (Question ID = 51912)
Question Description :- HP12_GENERAL APTITUDE_SET3QS8
Question Stimulus :-

Pointing towards a lady in a Polaroid, Victor said, “She is the daughter of the father of the
sister of my brother”. How is the lady in photograph related to Victor?/Ud CIGIEE Th
AIZAT B TR® FART B Y, fagex Hgdl &,Tg A WIE B 954 & a1 H 9t g7 | THR |
ST dso! fadgex A fd Yo Haftra 72

e (Option ID = 147510)
Daughterlaﬁ

« (Option ID = 147511 )
Wife /aait

« (Option ID = 147512)
Mother/®T

« (Option ID = 147513)

None of theselsT-I'ef ] Hﬁg -'-Iﬁ



Option ID :-0Correct Answer :-(Option ID = 147513 ) None of theselg:l'l}l' I ﬁé :Iﬁ
11)

Question ID :- (Question ID = 51907 )

Question Description :- HP12_ GENERAL APTITUDE_SET3Q3

Question Stimulus :-

What will come in place of question (?) mark in the following series?/fA% it § yzara® e (?) &
LY YR HT S{TEIT?

BZA, DYC, FXE, (?), JVI
e (Option ID =147490)
HUG
e (Option ID = 147491)
HWG
e (Option ID = 147492)
UHG
e (Option ID =147493)
WHG
Option ID :-0Correct Answer :-(Option ID = 147491 ) HWG
12)
Question ID :- (Question ID =51913)
Question Description :- HP12_ GENERAL APTITUDE_SET3Q9

Question Stimulus :-

DIRECTIONS: Arrange the following words according to the English Dictionary.lﬁlcf‘x’[: 3Toit
NP F TR, I Tregf F saafRyd +3:

a. Apple b. Appreciate c. Apply d. Application e. Apartment
e (Option ID =147514)
e, ab,dc
e (Option ID =147515)
e,c,a,b,d
e (Option ID = 147516)
e,a,c,d, b

e (Option ID =147517)



e,a,d,c,b
Option ID :-0Correct Answer :-(Option ID = 147517 ) e, a, d, c, b
13)
Question ID :- (Question ID = 51918 )
Question Description :- HP12_GENERAL APTITUDE_SET3Q14
Question Stimulus :-

In a row of children, Deepti is ninth from the left and Kashish is thirteenth from right. They
exchange their positions and then Deepti becomes seventeenth from the left. Find the new

position of Kashish from the right end of the row?ﬁﬁﬁ@ﬁﬁ, 'Qﬁ'l?ﬁ, Wﬁﬁ%'\‘?ﬂq
TR g 3R HRA, ST T dea AW | T 379 T AT § 9¢d dd & 3R o Sl giw |
e I TR 3T STl 8, B BT 741 VI ST F 1 B9 |

(Option ID = 147534 )

20th/20aT

(Option ID = 147535)

21st/214f

(Option ID = 147536 )

27t 274t

(Option ID = 147537 )

28th/28at

Option ID :-0Correct Answer :-(Option ID = 147535) 218t21af
14)

Question ID :- (Question ID = 51908 )

Question Description :- HP12_ GENERAL APTITUDE_SET3Q4

Question Stimulus :-

DIRECTIONS: These questions are based on continuous alphabet type, a letter series is

given which has some blanks, find the alternatives that complete the series.fﬁ%ﬂ =
:rgnavﬁﬁ, O R I § ol - AT 7 {5t v fapea & pu A § | 98t fawey &1 99+
I

-ca-c-bc-b-a
« (Option ID = 147494 )
abcba
e (Option ID = 147495)

bbaac

https://www.freshersnow.com/previous-year-question-papers/



e (Option ID = 147496 )
ccbab
e (Option ID =147497)
cbaca
Option ID :-0Correct Answer :-(Option ID = 147495 ) bbaac
15)
Question ID :- (Question ID =51905)
Question Description :- HP12_GENERAL APTITUDE_SET3Q1
Question Stimulus :-
DIRECTIONS: In the question below, there are few statements followed by few conclusions.

You have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically follow(s)

from the given statements.lﬁ%ﬂ: ﬁ%ﬁqwmﬁwmmeﬁvwﬁsmwﬁwéﬁq
M § | MU 3T e i1 SU=T B I 91941 § HS €1 3 Jd3d a2t 9 = udia gl 8t |
Tt frewut o1 ufew fb au Fifore % Ry e el A F i J1 dHETd 3U A SGAR0T Hdl
g, 9% Jdgd aa po W El |

Statements:/ HY:
Some tables are ears./ P& A, BT g
All ears are spoons./'\‘T‘l-ﬂ DI, ilTFﬁl% |
Some spoons are glasses./[®® dHT, IR % |
Conclusions:/fArsw:
I. Some glasses are tables./$9 ﬁmm, | % |
Il. Some glasses are ears./[®S® ﬁl?lT\‘[, Cag| % |
e (Option ID =147482)
If only Conclusion | followsrafe saa fass | ST HdT ?
« (Option ID = 147483 )
If only Conclusion Il follows/afe daa fAswd 11 ST BT ?
« (Option ID = 147484 )
If neither Conclusion I nor Il foIIowsRT% Afrsed 11 SIJHRT hdT %
« (Option ID = 147485 )

If both Conclusions | and Il follow/afe g fAsatd Glﬂ'\ER'UTW%



Option ID :-0Correct Answer :-(Option ID = 147484 ) If neither Conclusion | nor Il foIIowsRTﬁ q

e | 7 11 SR HRaT @

16)

Question ID :- (Question ID =51916)

Question Description :- HP12_GENERAL APTITUDE_SET3Q12

Question Stimulus :-

At what time between 7’0 clock and 8’ O clock will the hand of the clock be together?/ 7 ol

¥ 8 Tl & U US! Bl Y34l (g IHY TH 1Y g2

(Option ID = 147526 )

-
=

381 minutes past 7/7 do[h 381

||’-.'l

[

e w

e (Option ID = 147527)

2 =]

3711 minutes past 7/7 ISIh 371 e R

« (Option ID = 147528 )

-
&

2811 minutes past 7/7 do[h 28*

|I’-.'|

[

ffrAew

« (Option ID = 147529 )

g g

301 minutes past 7/7 dSTh 301 e R

- P
&

Option ID :-0Correct Answer :-(Option ID = 147526 ) 3811 minutes past 7/7 do[hR 381 fiFe W)
17)

Question ID :- (Question ID = 51921)

Question Description :- HP12_ GENERAL APTITUDE_SET3Q17

Question Stimulus :-

Four kids P, Q, R and S are up on the ladder. P is further up the ladder than Q, Q is between
P and R. If S is further up than P, who is the second from the top?/dIX T P,Q,R 3RS '\‘ﬁ'ﬁ&
Wa%%,%' IPLQAWAHARSFIWRIQ,PIRRF TR 1AL S, P F IR FW &, HW A g
B 8?2

e (Option ID =147546)
Q

e (Option ID =147547)
P

« (Option ID = 147548 )



R
« (Option ID = 147549 )
S

Option ID :-0Correct Answer :-(Option ID = 147547 ) P



